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Section A: Families 
 

Answer all questions in this section. 
 

 
For questions with four responses only one answer per question is allowed.  

For each answer completely fill in the circle alongside the appropriate answer. 

 

If you want to change your answer you must cross out your original answer as shown.   

If you wish to return to an answer previously crossed out, ring the answer you now wish to select  
as shown.   

 
 

 

 
 
 
 

0 1    Which term is used by sociologists to describe the practice of being married to 
only one person at a time?      

     [1 mark] 
             A Monogamy   
       
                     B Polyandry   
       
                     C   Polygamy   
       
                     D Polygyny   
        
0 2    Which term is used by sociologists to describe a family with parents and their 

children?      
     [1 mark] 
             A Cohabiting couple   
       
                     B Extended family   
       
                     C Lone-parent family   
       
                     D Nuclear family   
        
        

CORRECT METHOD WRONG METHODS 
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 Turn over  

 

0 3   Describe how the domestic division of labour may be organised in families. 
     [3 marks] 
     

     

     

     

     

     

     

     

     

     

 
 
0 4   Identify and describe one type of family diversity identified by the Rapoports. 
     [3 marks] 
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    Item A 
    
     

 
 

 
 
Source: Office for National Statistics 

     
0 5   From Item A, examine one strength of using statistics to research marriage. 
     [2 marks] 
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0 6   Describe the type of statistical data shown in Item A. Identify the trend shown by 
the data and explain one factor which may account for this trend. 

     [4 marks] 
     

     

     

     

     

     

     

     

     

     

     

     

 
0 7   Identify and explain one advantage of using postal questionnaires to investigate the 

domestic division of labour within families.     
     [4 marks] 
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    Item B 
    
     

Sociologists Delphy and Leonard (1992) have suggested that the family can be 
patriarchal. They describe how families can be based on hierarchies, with the 
husband at the top and other family members in subordinate, lower-ranking 
positions. Husbands are seen as controlling the labour of wives for their own use 
and women are seen as doing more of the domestic work and childcare.  
 

     
0 8   From Item B, identify and describe one way in which Delphy and Leonard believed 

that the family could be patriarchal, including what you know of their sociological 
perspective on family. 

    

     [4 marks] 
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0 9   Identify one ethical issue that you would need to consider when investigating the 
domestic division of labour and explain how you would deal with this issue in your 
investigation. 

    

     [4 marks] 
     

     

     

     

     

     

     

     

     

     

     

     

 
 
 
 
 
 
 
 
 
 
 

Turn over for the next question 
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1 0   Discuss how far sociologists agree that changes in the status of women in society 
are the main reason for the pattern of divorce in Britain since 1945.     

     [12 marks] 
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1 1   Discuss how far sociologists agree that the family has lost its importance in Britain 
today.     

     [12 marks] 
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Section B: Education 
 

Answer all questions in this section. 
 

 

 

 
  

1 2    Which term is used by sociologists to describe the indirect learning of values and 
expectations based on the organisation of a school?      

     [1 mark] 
             A    De-schooling   
       
                     B  Formal curriculum   
       
                     C    Hidden curriculum    
       
                     D  Social cohesion     
        

1 3    Which term is used by sociologists to describe a small-scale trial to test a 
particular research method before using it in a research project?      

     [1 mark] 
             A  Case study   
       
                     B  Ethnography     
       
                     C  Longitudinal study   
       
                     D  Pilot study   
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1 4   Describe a home-based factor that could influence a student’s educational 
achievement.       

     [3 marks] 
     

     

     

     

     

     

     

     

     

     

 
 
1 5   Identify and describe one example of a type of secondary school in Britain today. 
     [3 marks] 
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    Item C 
    
     

Halsey, Heath and Ridge (1980) found clear social class inequalities in education. 
They used a sample of 8529 males born between 1913 and 1952.  
 
The participants were divided into three social classes based on their father’s 
occupation: 
 

1. the service class - professional workers 
2. the intermediate class - clerical or sales workers 
3. the working class - manual workers in industry and agriculture. 

 
The research showed that a boy from the service class, compared to a boy from 
the working class had four times as great a chance of being at school at 16, eight 
times the chance at 17 and ten times the chance at 18. His chance of going to 
university was eleven times greater than a boy from the working class.  
 

     
1 6   From Item C, examine one weakness of the research. 
    
     [2 marks] 
     

     

     

     

     

     

 
 
1 7   Identify and explain one advantage of using a longitudinal study to investigate the 

relationship between social class and educational achievement as referred to in 
Item C. 

    

     [4 marks] 
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1 8   Identify and explain one advantage of using group interviews to investigate school 

subcultures.     
     [4 marks] 
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    Item D 
    
    Stephen Ball (1981) studied the internal organisation of a comprehensive school. 

He carried out participant observation in the school over three years and looked at 
the system of grouping students, as this changed from banding (grouping by ability) 
to mixed-ability classes.  

 
In the system based on grouping by ability, students were placed into one of three 
bands, with the first band containing the most able and the third band containing the 
least able. Although this system was based on test scores, Ball found that children 
from higher social classes were more likely to be placed in the top band. 
 

     
1 9   From Item D, identify and describe the research method used by Ball including what 

you know about his perspective on education.     
     [4 marks] 
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2 0   Identify and explain one possible effect on students of setting in schools. 
     [4 marks] 
     

     

     

     

     

     

     

     

     

     

     

     

 
 
 
 
 
 
 
 
 
 

Turn over for the next question 
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2 1   Discuss how far sociologists would agree that gender differences in educational 
achievement are mainly due to factors inside schools.     

     [12 marks] 
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2 2   Discuss how far sociologists would agree that the main function of today’s 
education system is to transmit the norms and values of society.     

     [12 marks] 
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END OF QUESTIONS 
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